HEM AT ZREZZEEREEEZEGHER
th K B 110 & 1 B % 110 £ 12 H HA M R
i 2= B 2% B ES (G
= B D = A 7 = LT
5 % | B | | & ax A 59
ES HH bl
a1 % 5 a B i 4 s % 4 s %
ESRLES ESLES EHE | G| EHE | G| EHE ESLS
A 59 A B AE 54 AE 59
4 3 230 418 123 230 418 123 208 418 22 123
= 63 157 67 63 157 67 57 157 6 67
RLBRE A 7 10 2 7 10 2 5 10 2 2
BT B TRRE 45 46 7 45 46 7 42 46 3 7
=tiatal =24 1 2 1 2 1 2
AHERILTRIRBI 17 24 17 24 17 24
Fonfa E G HIRE 91 173 47 91 173 47 80 173 11 47
VeI HIA 3 3 3 3 3 3
RETEY)E A 3 3 3 3 3 3
SRHH ¢ AR SUEE S E B
'H%/Jﬂ D/%lﬁl%d&rb § %ﬁ \/;CIE&E*%%’{Z}E °



